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1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

12 inches =1 foot

inches in numerator to remain in final answer
feet in denominator so they will cancel

12in. F
7,920 x A 95,040 in.

: 2,000 pounds = 1 ton

tons in numerator to remain in final answer
pounds in denominator so they will cancel

1ton
10,000 w’s X 2000 Ip§ =5 tons

16 ounces = 1 pound

ounces in numerator to remain in final answer
pounds in denominator so they will cancel

16 oz.
5 8. x e

= 80 oz.

2 pints = 1 quart

pints in numerator to remain in final answer
quarts in denominator so they will cancel

2 pt. -
13 g6, x o 26 pt.

(2X-3)(X+2)=0
X=3/2, X=-2

14)

15)

16)

17)

18)

19)

20)

2(3/2)2 + (3/2) -6

0
9/2+3R2-6=0
0=0

2(-22 +(-2)
8-2

[=Xe Je)l
o
oo

5(b2 - 25) =0
5(B-5)(B +5) =0
B=5 B=-5

5(5)2 - 125=0
5(25) - 125 = 0
0=0

5(-5)2 - 125 = 0
5(25) - 125 =0

6X2-6X-72=0
B(X2-X-12)=0
)6((X-4)(X+3)=0

6(4)2 - 6(4) + 18 = 90
6(16) - 24 + 18 =90
90 =90

6(-3)2- 6(-3) =+ 18 = 90
6(9) + 18 + 18 =90
90 =90

X mi. 6 mi.

1hr. 5hrs.

B5X=6, X=12
R =12 mph

R = J0mi. _ 12.5 mph

8hr.

7)

8)

9)

10)

15)

16)

15 12in. _ 12in. _ 5
3 X H X YA 144 in.
242 xJ2in.  12in. 288 in.2
1 574 54
1y 3t 3 ft.
X = 9ft2
1 1 yd. X 1 yd.
1y  36in. 36 in. 36 in.

X
x
x

i Tyd Tyl Ty
= 46,656 in3

248 12in. (J2in 12in.
1 V4 140 10

= 3,456 in.3

8 g2 xJomm 10 mm

1 — o = 800 mm2

9 ;:d'? « »:»6)"2 . ?Gy'; = 11,664 in.2
1:# XS?S'; Tf- XSiS;TL = 27,878,400 ft.2
1001“4!,( 13;‘1{- X 13;"(‘ = 11.11yd2
.5;:«172 2 13;; y 13; = 452
R
9501@::14)(1 Jon;ﬁ 1(;0”;6 = .095 m2
43,560 ft.2

4ft.x4ft.x8ft. =128 ft3

27 .3

9 ft.2

298B
TH2 12in. _ 12in. )
1 - 2
) " A A 1,008 in.
3x2 100cm _ 100 cm
2 - 2
) ; A oy 30,000 cm
847 12in. 12in. )
3 = .2in.2
) 3 Y4 X K 115.21in
1542 _ 12in. _ 12in. )
4 =21 2
) 1 A X A 216in
5) 8% _10dm _ 10dm _ 10 dm
1 14 14 1A
= 8,000 dm3
6) 3k 1000 m 1000 m 1000 m
1 1 1 1 Jeth
= 3,000,000,000 m3
7) 5.643 12in. ” 12 in. p 12 in.
1 1M V4 4
= 9,676.8in.3
8 248 12in.  _12in.  12in.
1 1 14 1K
=3,456 in.3
7yas3  36in. _ 36in. _ 36in.
9
) 1 X1yd.x1yd.x1yd.
= 326,592 in.3
10) 4ot 5280 M. . 52804 52804
1 1 . 1 g 1.
12in. . 12in. _ 12in.
1 136 13
= 1,017,400,000,000,000 in.3
370¢®_ 1m 1m 1m
11
) T XT00 ok “T00 o X100 of
= .00037 m3
18c? _ 1m 1m
12 X = .0018 m2
) 1 1000rﬁx1000rﬁ 018
230reS 43,560 ft.2
13 —_—_ 0 ft.2
] —=—u — 87,12
14) 4ft.x4ft.x 8 ft. = 128 ft3
2 yardS 27 ft.3
15 = 54 .3
) 1 X 1 yard 8
2 yards 9ft2
16 = 1812
) ] X 1 yard 18

g6¢ - 38¢ suolnjog
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1542 X 12in. X 12in.
1 1 14

1)

1y 3t 3.

e T
1?5280t 5280 ft.

O X A
1% 100cm _100cm

4 7 X 1A A 14
482 12in. _ 12in.

S T XTx *Tix
6) 7 yel? 3 ft. 3 ft.
1 1yd. A

3.2-.2 (5280 ft 5280 ft.
1 1 pfl. 1 pAf.

15.7. 412 « 100cm 100 cm

X
1 14 144
9) 43,560 ft.2

10) 9ft2

11) (3X-2)(X-1)=0
) @201

12) 3(2/32 - 5(2/3) +
4/3-10/3 +

3(1)2 - 5(1) +
3-5+

13) 2(X2 -5X +6) =

I

I}

]

144in.2

9.2

27,878,400 ft.2

10,000 cm?

576 in.2

63 1ft.2

89,210,880 ft.2

157,000 cm?2

X+2

14) 2(3)2-10(3) +12=0
18-30+12=0

0=0

2(2)2-10(2) +12=0
8-20+12=0

0=0

15) (X-4)(X-4)=
X2-8X+16

16) 1225> 1216

17)" (X +2)(X + 5)

X+5

X+2

18) 3X2 +8X +4

3X+2

19) WFx3ft. =11t
WF =1/3=.333=331/3%

20) WFx9ft2=11t2
WF =1/9

29D
)< 12in. 12in. )
1 = 1,296 in.2
) = X H K 1,296 in
5 yet2 3t 3t
2 X X = 4512
) 1 1 yd. 1 yd.
62 5280 ft. 5280 ft.
3 = 167,270,400 ft.2
) Tt 1 0,40
18a12 100 cm _ 100 cm
4 = 180,000 cm?
) 1 14 14 em
75472 12in. 12in. ,
5 = 108in.2
) 3 AT n
13442 31t 3t
6 = 11.7 .2
) 17 wd. *3 wd.
252 5280 ft. 5280 ft.
7 = 696,960,000 ft.2
) - X T X Tof 96,960,000
672 100 cm _ 100 cm
8 = 6,700 cm?
) T~ 14 10
5a0r68 43,560 ft.2
Gl R 1.2
9) X 217,800 f
2 cords 128 ft.3
10 —_— = 256{t3
) T X Tiged
11) (3X +3)(X-4) =0
= —1, X =

12)

13)

3(-1)2-9(-1)-12=0

3+9-12=0
0=0
3(4)2-9(4)-12=0
48-36-12=0
0=0
(X-6)(X+6)=0
X=6, X=-6

14)

15)

16)

17)

19)

20)

(6)2-36=0
36-36=0
0=0

(-6)2-36=0
36-36=0
0=0

(X -B)(X - 5) =
X2-10X + 25

2025 > 2000

X+7)(X+3)

X+4

X+7

X2 -6X-27

WF x 36in.=1in.
WF =1/36=.027 =2.8 %

WF x144in2=1in2
WF =1/144
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1)

2)

3)

4)

7)

12)

2742 % 1 yd. X 1 yd.
1 3K 3

U}

3 e % 3t ¥ 3 ft. 07 1.2

X X
1 1006m = 10Q£m

1542 % 12in. 12in. 12in.

i W T K

udfﬂxrm. L 3ft__3ft
1 1 yd. 1 yd. 1 yd.

1 3 (5280 ft. 5280 ft 5280 ft.
1 1 pfl. 1 pAl. 1 pAl.

= 147,000,000,000 ft.3

3 « 100cm  100cm 100 cm
1 14 14 14

= 3,000,000 cm3

3cords  128ft3
— == - 38413

T X 1 cerd

2yards 27 1t3
————— =541t3

T T Hyard

(X-5)(X-5)=0
X=5

(5)2 - 10(5) + 25 =0
25-50 +25=0
0=0

3yds.2

1]

1 1yd "yl T
10,000 52" _ 1 mi. 1mi )
: - = .00036 mi.2
1 5280 §/ ~ 5280 ¢ (rounded)
1200cA2 1m im__ 12 m2

1,728in.3

27 ft.3

13)

14)

15)

16)

18)

19)

20)

(X-7)(X-5)=0
X=7,X=5

(7)2-12(7) +35=0
49-84+35=0
0=0
(5)2-12(5)+35 =0
25-60+35=0
0=0

(BX-1)X-2)=
3X2-7X +2

5621 > 4800

WF x 9ft2=1ft2
WF =108=111=111%

WF x 27,878,400 ft.2 = 43,560 ft.2
WF = 1/640

R =100 yds. 11.1Tyds
g'sec.
200 mi.

R = ——— = 40 mph
5 hrs.

30A

B2mi. _ g5 m;,
T :
4507, = 28
6 289 _ 1260
) 1 X 1¢7. g
7) 21 [ 2.21bs. _ 455 ppg
1 116
8) 1By  O9m _ yac
1 1 yd.
15¢m _ .4in. .
9 ——— = 6in
) 1 X 1o
10) 254 03502 _ g75,
1 14
11) S L 951 | 475 ters
1 1o
12) B4 25am _ yaq 00
1 1 jef,
5kt .62 mi. .
13 = 3.1 mi.
T
12) 48WE L 45k9 _ o5
1 14
1050%. 28
15 =80 - 2940
) T X 1¢7. g
16) B39 9Mm _ g5
1 1 yd.

308

1) .4

2) 1.1

3) 2.2

4) 1.06

5) 25 ol o Ain.
1 1pM

6) 364 0350z _
1 14

7 1_2_1q§ -

8) 11044, _ 2.5cm

9) 36 ji” X2.5cm

=10in.

1269

11.4 liters

275cm

=90cm

10) if{ x0850Z. _ 56402,

11) 18.5 yds. % 9m

12) 55 2.2 Ibs.

13) 16.3.M 1.6 km

14) 364" ,1:08 gts.

15) 5.05 o7. (284

16) 360.5 erff ¥ A4in.

= 16.65m

121 Ibs.

26.08 km

38.16 qgts.

14149

= 144.2in.
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